

Apartment in St Paul's Bay



St Paul's Bay, North



€255,000

Reference No: 240091040-644

 Total Rooms: 4

 Floor Area (m²) : 60

 Bathrooms: 1

 Bedrooms: 2

Apartment - For Sale - St Paul's Bay

St Paul's Bay - Situated in a very good area seconds away from the promenade is this fantastic opportunity , a choice of two bedrooomed furnished and finished apartments also having an individual short let MTA license and the block also having a lift!. Apartments are very similar and consist of an open plan which includes a kitchen, dining and sitting area a full bathroom and 2 spacious bedrooms enjoying a spacious balcony either on to the road or towards the back of the block. Properties are being offered freehold!

Features

Rooms

- ✓ Kitchen/Living/Dining : 5.54 x 3.9 m (21.61 m²)
- ✓ Double Bedroom : 3.55 x 3.65 m (12.96 m²)
- ✓ Bathroom : 1.93 x 2.05 m (3.96 m²)
- ✓ Open Space : 6.84 x 1.55 m (10.6 m²)
- ✓ Double Bedroom : 3.55 x 3.04 m (10.79 m²)

Gallery





Pierre Borg
RE/MAX Crown - Sliema

M: 99499337
E: pierre@remaxcrown.com
T: 21342410

RE/MAX Crown - Sliema
166, 169, Tower Road, Sliema, Malta